F76EI(R4) BMMEABRELGRERE
b e 1 2 3 4 5 6 7
o 0 = % e i =
53 S I = = 1]
m i) iy # By *t #F
&R
200m 6 0 5 0 0 10 0
400m 0 0 0 5 0 13 0
1500m 8 0 0 0 0 13 0
%A% 5000m 5 0 0 0 0 6 0
20F T |4X100mR 4 0 0 0 0 11 0
o ik 0 0 6 0 0 12 0
= ER Bk 0 0 5 0 0 20 0
A% 0 0 0 9 0 13 0
100m 5 0 0 0 0 15 0
%B% 3000m 18 0 0 0 0 0 0
30F ~30% |EMEBE 0 0 0 0 0 15 0
A% 6 0 0 0 0 0 0
100m 14 0 0 0 0 4 0
%C% 1500m 14 0 0 0 3 4 0
40F ~40% |EBBE 6 0 0 0 0 0 0
A% 11 0 0 0 0 4 0
(B) (C) [4%x100mR 6 0 0 0 0 5 0
(D) 100m 1 0 0 4 0 0 0
BF 1500m 4 0 0 5 0 9 0
507 ~59F |mpain 9 0 0 0 6 3 0
) 100m 10 0 5 0 0 3 0
BF 3000m 0 0 0 6 0 0 0
60 ~69F (a1 1% 4 0 6 0 0 1 0
(D) (E) |4x100mR 6 0 0 0 0 5 0
(FBEF [2000m 0 0 0 0 0 0 0
0F ULk
- B R 147 0 27 29 9 176 0
PP g 2 6 4 3 5 1 6
100m 0 0 0 0 0 18 0
200m 0 0 0 0 0 0 0
(@) 1500m 0 0 0 0 0 6 0
TF FE 2 Bk 0 6 0 0 0 0 0
BTUT  [EEmk 0 0 0 0 0 0 0
A% 4 0 0 5 0 11 0
A& 0 0 0 0 0 15 0
(H) 100m 0 0 0 0 0 11 0
ZF 2000m 0 0 0 0 0 0 0
36 ~49F (a1 5 0 0 6 0 7 0
(G) (H) [4x100mR 0 0 0 0 0 11 0
MO%F [2000m 0 0 0 0 0 0 0
50F Lk
= 7R 9 6 0 11 0 79 0
HED) g 3 4 5 2 5 1 5
wa 57 A 156 6 27 40 9 255 0
IIE 4z 2 6 4 3 5 1 7




